ifurniture

Better, Cheaper, Smarter!

w\
ASSEMBLY INSTRUCTIONS
ITEM# AM201101-B/W
—/




ifurniture

Better, Cheaper, Smarter!

‘\

General Assembly Guidelines

I.  Ensure that all parts and hardware are available before beginning assembly.

II.  Follow each step carefully to ensure the proper assembly of this product.
[ll.  Two people are recommended for ease in the assembly of this product.
IV. Do not over tighten hardware.

4

7

_U
o\



ifurniture

Better, Cheaper, Smarter!

4 R
Parts List
4 N
Hardware List
M6*30(mm) Screw 13 PCS
W M6*40(mm) Screw 4 PCS
»
M6*45(mm) Screw 15 PCS
@ M8*15(mm) Screw 6 PCS
—fFES) Screwdriver 1PCS
= =7

P.3



ifurniture

Better, Cheaper, Smarter!

Step 1

D
M8*15(mm)
6 pcs

Step 2

C
M6*45(mm)
6 pcs

P.4




ifurniture

Better, Cheaper, Smarter!

Step 3

C
M6*45(mm)
5 pcs

Step 4

C
M6*45(mm)
2 pcs




ifurniture

Better, Cheaper, Smarter!

Step 5

C
M6*45(mm)
2 pcs

Step 6

A
M6*30(mm)
13 pcs

>

B
M6*40(mm)
4 pcs

v

E
:@

Please do not fully tighten screws until all screws are in place !

P.6



